3SHANRL—FT+ >0 707 DS A MNEZSDEAE (12A5)

T=PCO

=]

1K)

2(s&)

3(%)

EHY X MEZS DEHANE
(Bq/Cm3) *1

5.89E-05 (8K)

1.01E-04 (8X)

6.87E-05 (8K)

ND*2  (8&/\)

ND*2  (&/\)

ND*2  (8&/\)

=

4(BH)

5(H)

6(:X)

70K)

8(K)

9(&)

10(%)

Y X NEZYDHANE

9.79E-05 (&:X)

9.46E-05 (8:X)

9.78E-05 (E&K)

5.96E-05 (EK)

6.53E-05 (BK)

5.03E-05 (E&X)

7.18E-05 (8X)

(Bg/cm?®) *1 ND*? (&) ND*? (&) ND*? (&) ND*? (&) ND*? (&) ND*?  (&/\) ND*? (&)
B 11(8) 12(A) 13(N) 14(5K) 15(K) 16(2) 17(%)

128 | EHiY R MEZSDFHANE

6.25E-05 (BK)

7.71E-05 (8&X)

4.54E-05 (8K)

6.95E-05 (BK)

7.59E-05 (8&XK)

6.89E-05 (BK)

6.76E-05 (8X)

(Bg/cm?) *! ND*2 (8N ND*2  (8&/\) ND*2  (8/\) ND*2  (8&/\) ND*2  (8&/\) ND*?  (8/\) ND*2 (8
=] 18(H) 19(8) 20(N) 21(K) 22(K) 23(%) 24(t)

B X NEZYDEHENE
(Bg/cm?) *!

7.32E-05 (&X)

5.85E-05 (&X)

7.07E-05 (&X)

5.57E-05 (&X)

6.04E-05 (8XK)

1.03E-04 (8X)

6.71E-05 (&X)

ND*2  (8&\)

ND*2  (8&/\)

ND*2  (8&/\)

ND*2  (8&\)

ND*2  (8&/\)

ND*2  (8&/)\)

ND*2  (8&\)

=]

25(H)

26(H)

27(X)

28(K)

29(K)

30(:&)

31(1)

EHY X M EZS DEHANE
(Bq/Cm3) *1

8.53E-05 (EK)

5.94E-05 (8K)

5.37E-05 (8X)

5.37E-05 (8K)

8.32E-05 (8K)

8.53E-05 (BK)

5.50E-05 (8K)

ND*2  (8&/\)

ND*2  (8&/\)

ND*2  (&/\)

ND*2  (8&/\)

ND*2  (8&/\)

ND*2  (&/\)

ND*2  (8&/\)

%1 1 ReDEFAS X FEZYEHANE (S RIRIE

%2 : ND = &t
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